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QUESTION 1

Which state is NOT a compliance status of a VM Storage Policy?
A. Compliant

B. Noncompliant

C. Stale

D. Not Applicable

Correct Answer: C

QUESTION 2

A new host with local storage devices has been added to a vSAN cluster. Now, the administrator would like to increase
the capacity of the vSAN datastore.

What must be done to the new host to accomplish this goal?
A. Configure a RAID set on the storage controller.

B. Create one or more disk groups.

C. Delete all existing partitions.

D. Perform a storage device rescan.

Correct Answer: C

QUESTION 3

An administrator is responsible for managing a 5-node vSAN 7.0 cluster that hosts 150 virtual machines.
Each virtual machine belongs to one of the following vSAN Storage Policies:

vSANPolicy1:

Site Disaster Tolerance: None

Failures to Tolerate: 1 failure - RAIN5 (Erase Coding)

vSANPolicy2:

Site Disaster Tolerance: None

Failures to Tolerate: No data redundancy

Following an unplanned power event within the datacenter, the administrator has been alerted to the fact
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that one host has permanently failed. Prior to the vSAN host failure, the usable storage capacity of the
vSAN Cluster was more than 40%.

What will be the potential impact to any virtual machine that was running on the failed host using
vSANPolicy2?

A. vSAN will immediately start the recovery process.

B. Each virtual machine will be restarted on another vSAN host using vSphere HA.

C. After 60 minutes, vSAN will automatically start the recovery process.

D. Each virtual machine will need to be restored from backup.

Correct Answer: D

QUESTION 4

Which VM file type resides in the VM home namespace object on a vSAN datastore?
A.vmem

B. vmx

C. vswp

D. vmsn

Correct Answer: B

QUESTION 5
An existing VSAN cluster has this specification:

Four ESXi hosts with all flash configuration Each with two disk groups Each disk group with one cache device and four
capacity devices There are five more device slots available

The CTO would like to provision new applications, and these will need more capacity and performance.
Which two methods may be used by the vSAN administrator to meet this goal? (Choose two.)

A. Adding faster cache devices

B. Adding one more disk group per host with the same configuration

C. Replacing all cache devices by a larger device

D. Adding an ESXi host with identical device configuration

E. Replacing all capacity devices by a larger device
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Correct Answer: BD

QUESTION 6

An Application Clustering Solution requires an in-guest attachable LUN which can be shared across two different VMs.
Which vSAN feature can meet this requirement?

A. vSAN Data Persistence

B. vVSAN iSCSI Target Service

C. vVSAN HCI Mesh

D. vSAN Datastore Sharing

Correct Answer: D

QUESTION 7

The cluster level backend IOPS performance graph shows a higher-than-average number of IOPS for back-end
storage.

What is a possible reason for this situation?

A. Data resynchronization is in progress.

B. DRS is invoking multiple vMotion migrations.

C. There is VM storage 1/0O traffic.

D. Not enough capacity for slack space is on vSAN datastore.

Correct Answer: A

QUESTION 8

Which two conditions should be verified before removing an ESXi host from a vSAN cluster? (Choose two.)
A. Resyncs are running

B. Data evacuation is complete

C. Performance Service is disabled

D. Encryption is disabled

E. ESXi host is in maintenance mode

Correct Answer: BE
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QUESTION 9

A customer is running a number of compute-intensive application workloads on their existing 4-node vSAN cluster that
has resulted in resource contention. To provide additional compute resources, the vSAN administrator has decided to
deploy a new 4-node vSAN compute-only cluster so that a HCI Mesh can be configured.

Which three points would the vSAN administrator need to consider before using this configuration? (Choose three.)

A. The storage policy must be based on the number of hosts within the client cluster.

B. The storage policy is based on the total number of hosts across both client and server clusters.

C. A storage policy of Erasure Coding with FTT=2 would be supported.

D. A storage policy of Mirroring with FTT 1 would be supported.

E. A storage policy of Erasure Coding with FTT=1 would be supported.

F. The storage policy must be based on the number of hosts within the server cluster.

Correct Answer: DEF

QUESTION 10

Skyline Health vSAN HCL DB up-to-date health check is alerting in red in a newly deployed vCenter Server.
Which two options are the possible solutions for this problem? (Choose two.)

A. Obtain the HCL DB offline bundle from vmware.com, and manually update it.

B. Upgrade to the latest version of vCenter.

C. Upgrade the HCL DB from the hardware vendor website.

D. Obtain the HCL DB from the hardware vendor, and manually update it.

E. Update the HCL DB online from vmware.com.

Correct Answer: AB

QUESTION 11

A vSAN administrator received the following alert from vRealize Operations Manager:

"VMKernel NIC is experiencing high number of dropped packets."

What is the quickest path in vRealize Operations Manager that should be used to further investigate this
alert?

A. Home -> vSphere Optimization Assessment
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B. Home -> Troubleshoot -> vSAN
C. Alerts -> Triggered Alerts
D. Environment -> vSAN and Storage Devices

Correct Answer: C

QUESTION 12

All of the virtual machines running on a hybrid vSAN datastore have this storage policy assigned:
Failures to Tolerate (FTT) rule is set to "2 Failures - RAID-1 (Mirroring)".

The vSAN administrator needs to reduce the amount of vSAN datastore capacity the virtual machines will
consume.

Which action should the vSAN administrator take to meet this goal?

A. Change the FTT rule to "1 Failure - RAID-1 (Mirroring)", and select "Now" for Reapply to VMs.

B. Add the "Flash read cache reservation" rule to the storage policy, and set to 0%.

C. Disable Operations reserve and Host rebuild reserve and click "Apply".

D. Modify the FTT rule to "2 Failures - RAID-5 (Erasure Coding)".

Correct Answer: A

QUESTION 13

An organization is facing vVSAN storage capacity challenges on one of their vSAN enabled clusters, while other vSAN
enabled clusters are underutilized. The current vSAN version is 7.0 U1.

Which vSAN feature should be used to resolve this challenge in the quickest way?
A. VSAN HCI Mesh

B. VSAN Replication

C. vSAN Stretched Clusters

D. vSAN Datastore(s)

Correct Answer: A

QUESTION 14

An administrator has deployed a development VMware vSAN 7.0 U1 cluster. It will be used by the development teams
to deploy a mixture of cloud-native stateful applications alongside a combination virtual machine and Kubernetes
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workloads.

Which vSAN feature should be configured for the vSAN Data Persistence platform (vDPp)?
A. vSAN Cloud Native Storage

B. vSAN File Services

C. vSAN with Shared Nothing Architecture (SNA)

D. vSAN Direct

Correct Answer: D

QUESTION 15

An administrator wants to check the vSAN cluster health during the maintenance window while vCenter Server is
offline.

What are two ways to complete this task? (Choose two.)
A. HCIBench

B. ESXi system logs on VSAN datastore

C. esxcli

D. vSphere Host Client

E. esxtop

Correct Answer: CD

Latest 5V0-22.21 Dumps 5V0-22.21 Practice Test 5V0-22.21 Study Guide

Latest 5V0-22.21 Dumps | 5V0-22.21 Practice Test | 5V0-22.21 Study Guide 717


https://www.leads4pass.com/5v0-22-21.html
https://www.leads4pass.com/5v0-22-21.html
https://www.leads4pass.com/5v0-22-21.html
http://www.tcpdf.org
https://www.leads4pass.com/5v0-22-21.html
https://www.leads4pass.com/5v0-22-21.html
https://www.leads4pass.com/5v0-22-21.html

